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/ Intro Precalculus: 8.2 Parabolas Homework Name
#1 — 4: Which type of parabola: Vertical or Horizontal?
W) 2 =4 2) x% = 4y 3)y=(x—2)2+3 4) x=3(y—8)>—4

Horizontdl VerHca) \vexhal Horizontdl
#5 — 8: Graph each parabola. Include the vertex, focus, and directrix.

5y=ix e
E /
Vertex: (O /O) e ’__,.“ Vertex:(O)O) :
Focal Length (p): 4 — -+ Focal Length (p): 3 TN
Focus: CD/L‘) — Focus: (310) AR LR \\_‘
Directrix: (ﬁ: _4 Directrix: X =3
7)y=%(x+1)2—6 0 8)x=—%(y—1)2+3 TR T
Vertex: (—| ;"(9) L8 y Vertex: (3, |)
@ Foce! Length (o): I NEL A Focal Length (p): 2.
k Focus: (=1,-5) - Focus: (|, I) s
Directrix: Y= 1 Directrix: W = .5

#9 _ 12: Find the vertex, focus, and directrix of each parabola. Then match equation to its graph.

ny-12=4x-1 ( . b,

Vertex: (\, ‘) Eocis (7" ‘) Directrix: X = o < * zy
10) (x + 1)2 - 4()’ + 1) A i ;2’,
. 374738l |/ np
Vertex: (—| ,‘l) Focus: (’I |0) Directrix: lé: =) f Bt
1) (¢ 4+ 197 = 4y 4 1) D | ) ) o T
e Y .
Vertex: (-] ,"’\) Focus:(—-[ l"?.,) Directrix: % = O f
(‘2)(y—1)2=—4-(x—1) B
e —i—i] j—i;

Vertex: (\ ,\) Focus: (0 ) I) Directrix: X= 2 T2




v

#13 —16: Convert each equation to standard form by completing the square on x or y.

13)x* —=2x —4y4+9 =0 14) y2 -2y +12x-35=0
2
0-1) = 4(y-2)
(0] 28
| X

(U-1) = ~12(X~3)
o2
x=-L (Y17 +3
12

15) x? + 6x + 8 =
y+1=0 16) x> +8x — 4y +8 =0

(%+3)7= =g (y-1)

OR

Y= ~-‘8- (x+3) "4

(X+4Y = 4 (y+2)
O
Y=+ (x +4) -2
#17 — 20: Find the standard form of the equation of each parabola satisfying the given conditions.

17) Focus: (7,0) ; Directrix: x = -7 18) Vertex: (2,-3) ; Focu (2,-5)
22, =3) ; s: (2,—
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19) Focus: (3, 2) ; Directrix: x = —1 20) Vertex: (-3, 4) ; Directrix: y = 2
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=L (y-2) ‘ 1
k=g (-2fe =g O
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